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Gas commission: lump sum, not price subsidy or cap

Old gas bill at 5 cents /kWh
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Gas commission: lump sum, not price subsidy or cap

New gas blll at 25 cents /kWh
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Price cap: diminished incentives for reducing consumption

Price cap at 12 cents/ kWh
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Useful momentarily: as % of past consumption

Same graph but relative to historical consumption
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Gas commission: lump sum, not price subsidy or cap

Lump-sum scheme of commission
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For comparison: price cap up to 80%

QPOréce cap up to 80% of historical consumption at 12 cents/kWh
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